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Structure of DNA
DNA is made up of monomers called _________________.  Each nucleotide has 3 parts:-

_

_

_
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In DNA, the sugar is called _________________.  There are 4 different nitrogenous bases.  These are called:
_

_

_

_ 

This means that there are 4 types of nucleotide in a DNA molecule.  The nucleotide monomers link together to make long strands forming a polymer called a polynucleotide.
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The nucleotide monomers link together by ______________ reactions to make long strands -  a polynucleotide.
DNA IS A STABLE POLYNUCLEOTIDE WHICH ACTS AS AN INFORMATION CARRYING MOLECULE
A DNA molecule consists of 2 polynucleotide strands joined together to make a structure like a twisted ladder, commonly known as a ___________ _____________.     Weak ___________ ________ form between the bases to produce the ‘rungs’ of the ladder.  The hydrogen atoms on one base are attracted to the oxygen and nitrogen atoms on another.
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The shapes and sizes of the bases mean that the correct distance between the 2 sugar phosphate backbones can only be maintained by ___________________ _______ ____________ .  This produces a regular and stable DNA molecule.

Specific Base Pairing

There are two different types of bases, pyrimidines and purines.

Adenine bonds with ______________.

Cytosine bonds with ______________.

Hydrogen bonds form between the _______________ bases of two

nucleotides producing a ________________ ________ _______

Bases

                   Purines                                                                          Pyrimidines

                 Double ring                                                                      
  Single ring

Guanine                          Adenine                                        Cytosine                

    Thymine

Questions
1. If the bases on one strand of DNA are TGGAGACT, what is the base sequence on the other strand?
2. Using the cut outs, make a polynucleotide strand with the bases in the following order:
thymine, thymine, guanine, cytosine, adenine, guanine

3. Complete the complementary strand of the DNA molecule.

4. Label the diagram, including the bonds which hold the two strands together

5. In an organism, 19.9% of the bases in the DNA are found to be guanine. What % would be thymine?

6. In another organism 32% of the bases are thymine. What % would be adenine and what % would be guanine?
